Word Stress in English — Handout 2

In the word pairs below, the second member always has secondary stress. Is it
derivational or iambic? It helps if you write the stress pattern (1, 2, 0) above each

word.

positive (100)
oppose (01)
character (100)
democracy (0100)
personify (0100)
Japan (01)
Portugal (100)
continue (010)
aristocrat (1000)
suppose (01)
invisible (0100)
analysis (0100)
satify (100)
continue (010)
horizon (010)

irregular (0100)

positivistic (20010 D)
opposition (2010 I)
characteristic (20010 D)

democratic (2010 I)

personification (020010 D)

Japanese (201 I)
Portuguese (201 D)
continuity (20100 I)
aristocracy (20100 D)
supposition (2010 I)
invisibility (020100 D)
analytic (2010 I)
satisfaction (2010 D)
continuation (02010 D)
horizontal (2010 I)

irregularity (020100 D)



